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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet,

1- Before you -emeeeeees to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—==eeuuv ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything [ had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—-—--— way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used --------- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a --------—- matter.
1) contradictory  2) consistent 3) colloquial 4y trivial

6- The police wondered about the man’s ---------- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -—-——-
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -----e- ,'' said the candidate, "that family [arms must receive
government help.”
1) speculation 2) sateguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
~emmmmmeme (lictionary.

1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—---ee- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides. also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets. (11) ~-----—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —==-=--- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ———m all plant material with which they come into
contact. Smaller quantities are used in forestry, pasture systems, and management of areas
(14) ——-=mmm- as wildlife habitat.

Some plants produce natural herbicides, (13) ———=-—-- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- I ) the weed of gmml 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill ' 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

16-

17-

18-

PASSAGE I:

Precipitation. commonly referred to as rainfall. is a measure of the quantity of atmospheric
water in the form of rain, hail, or snow that reaches the ground. The average annual
precipitation over the whole of the United States is thirty-six inches per year. It should be
understood, however, that all precipitation i1s not measured equally. For example, a foot of
snow does not equal a foot of precipitation. According to the general formula for computing
the precipitation of snowfall, ten inches of snow equals one inch of precipitation. In upper
New York State, for example, where there is typically a large amount of snowfall every winter,
a hundred inches of snow in one year would be recorded as only ten inches of precipitation. On
the other hand. rain is rain. Forty inches of rain would be recorded as forty inches of
precipitation, The total annual precipitation for an area with forty inches of rain and one
hundred inches of snow would be recorded as fifty inches of precipitation.

The amount of precipitation that an area receives is a combined result of several factors.
including location, altitude, proximity to the sea. and the direction of prevailing winds. Most of
the precipitation in the United States is brought originally by prevailing winds from the Pacific
Ocean. the Gulf of Mexico, the Atlantic Ocean. and the Great Lakes. Because these prevailing
winds generally come from the west, the Pacific Coast receives more annual precipitation than
the Atlantic Coast. Along the Pacific Coast itself, however. altitude causes some diversity in
rainfall. The mountain ranges of the United States especially the Rocky Mountain Range and
the Appalachian Mountain Range, influence the amount of precipitation in the areas to the
windward and leeward sides of these ranges. East of the Rocky Mountains, the annual
precipitation is substantially less than that west of the Rocky Mountains. The precipitation
north of the Appalachian Mountains averages 40 percent less than that south of the
Appalachian Mountains. As air currents from the oceans move over land, the air must rise to
pass over the mountains. The air cools. and the water that is held in the clouds falls as rain or
snow on the ascending side of the mountains. The air. therefore. is much drier on the other side
of the mountains.

According to the passage, the term “precipitation™ includes - |
1) only rainfall 2) rain, hail. and snow
3) rain. snow, and humidity 4) rain. hail, and humidity

It can be understood from the passage that if a state has 40 inches of snow in a year, it

1) equals four feet of rain

2) is recorded as forty inches of precipitation

3) increases the annual precipitation by four inches

4) has no effect on the total annual precipitation for that state

What is the writer’s purpose in paragraph 27

1) To discuss causes of diversity in precipitation

2) To explain the effects of winds on precipitation in the U.S.

3) To refer to areas in the United states with a large amount of precipitation
4) To compare several factors in terms of their effects on precipitation
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The word *proximity” in paragraph 2 is closest in meaning to .
1) nearness 2) situation 3) distance 4) direction
Which of the following questions is NOT addressed by the passage?

1) Do mountains affect precipitation?

2) Is the precipitation of snowfall different from that of rainfall?

3) Why don’t the sides of mountains receive the same amount of precipitation?

4) Why isn’t all precipitation measured in the same way?

PASSAGE 2:

In approximately A.D. 260, a massive volcanic eruption buried parts of the highlands of
Central America in ash, forcing the Mayan people to abandon this area for decades, and for up
to two centuries in the worst-hit areas. The eruption was swift and occurred in only two
identifiable stages, with almost no interval in between. As a result of the lava outlet route being
under water, steam explosions contributed to its violence, and the rapid cooling of magma to
tephra (ash and other materials) by the lake waters created very small particles. which the wind
carried long distances.

The magnitude of the eruption can be calculated from the three-foot-deep ashiall forty-five
miles from the source, One small area in this region was struck by three additional eruptions in
the years that followed. These various eruptions differed in terms of the size of the area
devastated and the nature of the tephra blasted into the air. but in each instance people showed
a dogged determination to reoccupy the lands affected. thereby taking obvious risks but also
reaping the less obvious benefits of volcanic activity,

What does the passage mainly discuss?

1) The history of a small area of central America

2) The nature and effects of a specilic volcanic eruption

3) The differences between two types of volcanic eruption

4) The problems faced by Mayan people living in central America
In line 5 “its” refers to :
1) eruption 2) steam 3) water 4) route

It can be inferred that the eruption was exceptionally strong because ——-—---—- '
1) it was particularly swifi

2) the wind carried the particles a great distance

3) the ash forty-five miles away was three feet deep

4) the escape route for the lava was under the waters of a lake

Which of the following is defined in the passage?

1) ashfall 2) tephra 3) particles 4) magma

A result which all three additional eruptions had in common was .
1) the return of the inhabitants to affected areas

2) the distance of the ashfall from the eruption

3) the size of the area devastated

4) the type of tephra generated
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PASSAGE 3:

The national park movement began in the United States in 1870 when a team of explorer
suggested that part of the Yellowstone River region be set aside in order to protect its
geothermal features, wildlife. forests. and exceptional scenery for the benefit of future
generations. Congress responded by creating Yellowstone National Park, the world's first, in
1872.

The idea proved popular, and the number of national parks in this country grew rapidly. new
parks being set up by presidential proclamation and sometimes as the result of gifts by states of
the union or by individuals. Administration of this increasingly complex system was in the
hands of the U.S. Army for thirty years from 1886. but then Congress created the National Park
Service as part of the Department of the Interior to oversee it.

Today, in addition to what might be thought of as typical national parks, the Service also
manages places of historic interest, hiking trails, seashores. rivers. reserves of scientific
interest, and memorials. In all, more than 300 entities are involved. covering over 32 million
hectares. Each unit is directed by a superintendent who is responsible for all aspects of the
operation, Staff include administrative personnel and. according to the nature of the unit. park
rangers. naturalists, historians, and maintenance workers.

Perhaps unexpectedly, the Statue of Liberty and the White House both fall within the
system. It is sites such as these which help account for the extraordinary number of visitors,
now totaling some 400 million annually. To serve such large numbers. guest facilities are
offered at every site, which may include hotels. restaurants. gas stations, and transportation
systems. All these are operated by private concessionaires, who must observe specific
regulations imposed by the Federal Government.

What is the main topic of the first paragraph?

1) The role of Congress 2) The natural features of Yellowstone

3) The origins of national parks 4) Explorations of the Yellowstone
According to the passage, the original idea for a national park came from -------ceee——- -
1) Congress 2) a private group

3) the U.S. Army 4) the National Park Service

According to the passage, some National Park Service entities do NOT have -,
1) supervisors 2) guest facilities

3) park rangers 4) administrative personnel

The word “these” in line 21 refers to -----—----- 3

1) hotels 2) facilities

3) numbers 4) transportation systems

Which of the following statements is true according to the passage?

1) The Federal Government operates guest facilities at places of interest.

2) The Statue of liberty attracts the most visitors among all interesting places in the U.S.
3) The national park movement lost popularity with the public after 1886.

4) The National Park Service was created in 1916.
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